Intersection: Churchill Ave at El1 Camino Real, Palo Alto, California

MapData payload size 663
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= ({
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1003
by
revision O,
refPoint {
lat 374325427,
long -1221546841,
elevation 150
by
laneWidth 360,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 835,
y 2059
}
by
{

delta node-XY2 : {
x 606,
y 206
}
by
{



delta node-XY2 : {
X 629,
y 495
}
}
by
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverRightAllowed}
b
signalGroup 4
}
}
by
{
lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1106,
y 1546
by
attributes {
dWidth -60
}
by
{

delta node-XY3 : {
x 964,
y 1214
}
by
{

delta node-XY5 : {
x 2792,
y 3416
}
by
{

delta node-XY3 : {
x 928,
y 1175
}
by
{

delta node-XY5 : {
x 4514,
y 5792
}
by
{

delta node-XY3 : {
x 1131,
y 1372
}
by
{

delta node-XY6 : {
x 5786,
y 7362



}
b
connectsTo {
{
connectingLane {
lane 1,
maneuver {maneuverStraightAllowed}
}
by
{

connectingLane {

lane 10,

maneuver {maneuverLeftAllowed}
b
signalGroup 4

}

lanelID 3,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1353,
y 1271
}
by
{

delta node-XY4 : {
x 1267,
y 1712
}
by
{

delta node-XY4 : {
x 2396,
y 3037
}
by
{

delta node-XY3 : {
x 953,
y 1210
}
by
{

delta node-XY5 : {
x 4574,
y 5743
}
by
{

delta node-XY3 : {
x 1068,
y 1386
}
by
{

delta node-XY5 : {
x 5007,
y 6279



}
by
{
delta node-XY3 : {

x 833,
y 901

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {

{
delta node-XY3 : {

x 1858,
y —-28
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 60

}
by
{
delta node-XY4 : {
x 2708,
y —-3051

}
}y
{

delta node-XY3 : {
x 687,
y -1192
}
}
b
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverRightAllowed}
by
signalGroup 6
}
}
by
{
lanelID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}

I
maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x 1616,
y —-250
}
by
{

delta node-XY5 : {
x 3637,
y —4021
}
by
{

delta node-XY6 : {
x 5852,
y —-6316
}
}
b
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverStraightAllowed}
}
by
{

connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}

laneID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1376,
y —462
}
by
{

delta node-XY5 : {
x 3667,
y —4107
}
by
{

delta node-XY6 : {
x 5788,
y —-6289
}
}
by
connectsTo {
{
connectingLane {
lane 17,



maneuver {maneuverStraightAllowed}
b
signalGroup 6

}

lanelID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1099,
y =705
}
by
{

delta node-XY5 : {
x 3727,
y —-4120
}
by
{
delta node-XY6 : {
x 5720,
y —6267
}
}
by
connectsTo {
{
connectingLane {
lane 18,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}
}
by
{
lanelID 8,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x =72,
y —-1807
}
by
{

delta node-XY4 : {
X 2662,
y —2925
}
by
{

delta node-XY6 : {



x 6948,
y —-7570

}
I
connectsTo {
{
connectinglane {
lane 15,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1004

laneID 9,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 203,
y —-1599
}
by
{

delta node-XY4 : {
x 2707,
y —2966
}
by
{

delta node-XY6 : {
X 6838,
y —-7478
}
}
b
connectsTo {
{
connectinglane {
lane 16,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1004

laneID 10,

egressApproach 4,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

I
maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x 445,
y —-1351
}
by
{

delta node-XY4 : {
x 2672,
y —2922
}
by
{

delta node-XY6 : {
X 6867,
y —-7525
}
}
b
connectsTo {
{
connectinglane {
lane 17,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1004

laneID 11,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1711,
y —-59
}
by
{

delta node-XY5 : {
x —-4941,
y 5586
}
by
{

delta node-XY5 : {
x —-4053,
y 4659
}
by
{

delta node-XY5 : {
x -5004,
y 5693
}
by
{

delta node-XY6 : {



x =7372,
y 7951

}
b
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 12,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-1464,
y 175
}
by
{

delta node-XY5 : {
x -4976,
y 5593
}
by
{

delta node-XY5 : {
x -4041,
y 4653
}
by
{

delta node-XY5 : {
x -5048,
y 5725
}
by
{

delta node-XY6 : {
x =7269,
y 7986
}
}
by
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
lanelID 13,
ingressApproach 7,



laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1178,
y 401
}
by
{

delta node-XY5 : {
x —-4923,
y 5528
}
by
{

delta node-XY3 : {
x -1216,
y 1477
}
by
{

delta node-XY5 : {
x -3032,
y 3447
}
by
{

delta node-XY5 : {
x -4936,
y 5551
}
by
{

delta node-XY6 : {
x -7274,
y 8014
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
by
{

connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}

laneID 14,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x =909,
y 634
by
attributes {
dwidth -30
}
by
{

delta node-XY5 : {
x -3261,
y 3583
}
by
{

delta node-XY4 : {
x =-2170,
y 2333
}
by
{

delta node-XY3 : {
x =977,
y 856
}
}
by
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{
connectingLane {
lane 18,
maneuver {maneuverUTurnAllowed}

b
signalGroup 5

laneID 15,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 112,
y 2081
by
attributes {
dwidth 30
}
by
{

delta node-XY3 : {
x -1032,
y 872



}
b
{

delta node-XY4 : {
x -2167,
y 2039
}
}
by
connectsTo {
{
connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 1o,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =127,
y 1721
}
by
{

delta node-XY5 : {
x -2960,
y 3271
}
by
{

delta node-XY6 : {
X —-6475,
y 7470
}
by
{

delta node-XY5 : {
x —-4443,
y 5086
}
by
{

delta node-XY6 : {
x -7680,
y 8302
}
}
b
connectsTo {
{
connectinglane {
lane 8,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1002



laneID 17,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =305,
y 1365
}
by
{

delta node-XY5 : {
x —-4050,
y 4488
}
by
{

delta node-XY6 : {
x -5380,
y 6197
}
by
{

delta node-XY5 : {
x —-4508,
y 5113
}
by
{

delta node-XY6 : {
x =7675,
y 8447
}
}
b
connectsTo {
{
connectinglane {
lane 9,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1002

laneID 18,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {



x -539,
y 1017
}
by
{

delta node-XY5 : {
x —-4050,
y 4506
}
by
{

delta node-XY6 : {
x —-5439,
y 6310
}
by
{

delta node-XY5 : {
x —-4463,
y 5015
}
by
{

delta node-XY6 : {
x =7701,
y 8424
}
}
b
connectsTo {
{
connectinglLane {
lane 10,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1002

}
by
{
laneID 19,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
b
nodelList nodes : {
{
delta node-XY4 : {
x 586,
y 2402
by
attributes {
dWwidth -30
}
by
{

delta node-XY2 : {
x 242,
y —844
}
by
{

delta node-XY3 : {
x 1106,



y -1171
}

by

{

delta node-XY2 : {
x 434,
y 652
}
}
I
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverRightAllowed}
b
signalGroup 14
}
}
b
{
laneID 20,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
I
nodeList nodes : {
{
delta node-XY4 : ({
x 2368,
y 1039
}
b
{

delta node-XY2 : {
x —-434,
y —652
}
by
{

delta node-XY3 : {
x -1197,
y -1201
}
by
{

delta node-XY3 : {
x -1283,
y -1229
}
}
by
connectsTo {
{
connectingLane {
lane 19,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
}



